 W=1200LLF W=1200L4F W=(1200-a) LIF  200~300
20
ryFL—IL(AL) N
DP11532 S|
115 by FL—ILR(T (AL) ‘ ‘ |
70 45 DP9725P8 | | |
PBFA&yEL S E X (SUS) | | |
g n M4 X 20 | | |
o | | a=150~250 50 | %
N (] =)o RlE) ‘ ‘ — oo ¥l ¥ &
i | | | 1%
| SEAE—k | | |
} PKS—601 | | |
| KAL) | | | 3
| 5mm~8mm il i m i ? VSL
| IR ILHERRAL) R ﬂ
i DP3324P é
i /3L ZAE(AL) -
‘ DH6430 ME
32.75 |1 60 A R H (St)55.5 X 18.5 X 2.3t
f PS60THF
N Tj A INAURTHZAL (P-SUS)
x|l 2 Y M4 x 13
x| I X :
I & < \
| FAFE—H FS RN T(SUS)
i o M4 x 8 (315 [E 7 )
i =)o (&) M67RY T F vk (AL)
i 7<ARILEMB6 x 20 (SUS)
i wyF s Tayy  ARILZAE(AL #3841 (St)55.5 X 18.5 X 2.3t =127 (Rl&) BEXEII7yk(AD
- ‘ DP181340G DH6430 PS60THF K72EWHA
~ i ISR TR (AL INRIVTF#F3—(AL) YUV GIR) SRV KREAD  RyTL—ILAD TURXAE(AL) TURFryT#E)
i DP4430P8 DHB64MKA2 DH6430 \DP1 1532 ES6030N DP11532ECP2-L/R
‘ FARYE LT EZ(SUS) WsR=7 > H—(SUS)
44 21 M4 x 40 0 20 \ 2| = \3, 0 SGA-M8.M8 X 35
s g e AR IR o T o ﬁ, i
3 ®5.5% 30 — Ny — = = S e T e i [Eidl .
’9 T E LQ L(ZE I%) — (‘?—\L (Ht = i - = = i ‘ S?
d ; EEILR) B — — % —— — — .
L o) |/ ' AN g Rlsl/8l 1
vsL I m - & 60 & 60 | Jeo
- = == SFVEERAD KfE— 733U (Bl) 18R ILTFH(AL) EE—H 88/ SR JLHC (AL)
2 ‘ DP3324P 24 PKS—601  5mm~8mm 24 DP4430P8 PKS—601 3 DP3628P8R
BRiGaE M = B8R/ SR ILEB (AL)
ISRILTiE 5[5 A IE- 515 AP 23 DH4030P
i A oY =T H—(Rl) a=150~250 |30| |20
B ——
W=1200L4F W=1200LF W= (1200-a) LA F 200~ 300
IR XHREVFRIKERERERVUMRERECLYVELGYETS, KEXHI ST IMNEA T avTY,
ST i 1 X) FEEFHE
AN — 2 & B g I%4% — O N B B R B &
/ E"'§+ ﬁﬁ (I [
2 T % | | k4 gAYy -l By | B8 | @ |TEA
L | or = % A 8 & #  TASFE WEHER & R (A3)=1/8.1/25
A _— B i@ | | I5yhL— LM~ SL-FRIIP-DP11532-30-F

#5E B :2006.12.07 HEH: 2010.6.22

DOPPOPOPDOOD

E-033



